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Pre Calculus 11: HW Section 8.2b Solving Systems of Equations by Substitution
1. Solve each system by using substitution
i) 2x+3y=10 y=3x-5 i) 3x+2y=8 x=12y-10
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2. fax+av=4 and x+y =17 , what is the value of “a”?

G (%) =Y
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2. fax+av=4 and x+y =17 , what is the value of “a”?
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3. Determine all pairs (x,y) that satisfy the system of equations: x+ y =0 X - y=2
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4. Ifx—y= 4\/5 and xy =56 , determine the two possible values of “x+y”.
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5. Theline y =2x+2 intersects the parabola y =x" —3x+ ¢ at two points. One of these points is (1,4).

Determine the coordinates of the second point of intersection. [Euclid]
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7. Challenge: If “x” and “y
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are real numbers, determine all solutions (x,y) of the system of equations:
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